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0-00

727,

400

727,

400

06 -

* * * * * %

-11111-1

0

03

727

727



0-0004

1)
2,838,307
2)
589,327
3)
589,327
4)
379,700
( )
( 1so0 L
_ 30cm 60cm
50 234,650 060510
( )
l]so
100cm
150 31,650 060510
(
[ 1100m2 iooO0m2 0
8§10 mp2 113,400 060510
4)
58,920

06 -

|
* * * * * %

-11111-10



0-0005

200cm 0 0
50
150 8,700 06051
100m2 i000m2 | 1
810 mp 50,220 06051
4)
150, 707
e6o0cm
50
363 101,277 06051
200cm sooem | 0 4
50
55 6,710 06051
60cm i*to0cm (| 4
50
75 2,475 06051
e6o0cm
50
75 2.175 06051
100m2 i000m2 | 1
8§10 mp 38,070 06051
2)
1,881,680

06 -

Frxxxx - 11111-10



0-0006

3)
1,881,680
4)
1,881,680
( )
[ ]11000m2 |
| 5,380 mp2 710,160 06051
( )
[ ]11000m2 |
| 5,380 mp2 710,160 06051
( )
[ ]11000m2 |
| 1,460 mP2 2830, 680 06051
( )
[ ]11000m2 |
| 1,460 mP2 2830, 680 06051
2)
367,300
3)
367,300
BT2t 9t
6. 0km (4. 0km )
14 t 32.830 06051

06 -

|
* * * * * %

-11111-10



0-0007

BT2t 2.9t | | 0
14 t 106,470 06051
’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’ 06051
10 140,000
’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’ 06051
4 88,000
1)
1,889,856
2)
182,508
3)
182,508
4)
106, 432
( )
( 10 ]
_ 30cm 60cm
1 5,632 06051
( )
[ ]100m2 io00m2 | 1
720 mp2 100,800 06051

06 -

|
* * * * * %

-11111-10



0-0008

4)
38,440
100m2 i000m2 | 1
6§20 mp 38,440 06051
4)
37,636
100cm 200cm | 0 4
50
118 8,496 06051
100m2 i000m2 | 1
6§20 mp 29,140 06051
2)
1,294,080
3)
1,294,080
4)
1,294,080
( )
[ ]11000m2 |
‘ 3,610 m2 476,520 06051

06 -

|
* * * * * %

-11111-10



0-0009

( )
[ ]11000m2 |
| 3.610 mp2 476,520 060510
( )
[ ]1100m2 i000m2 | 1
| 980 mp2 170,520 060510
( )
[ ]1100m2 i000m2 | 1
| 980 mp2 170,520 060510
2)
413,268
3)
413,268
BT2t 2.9t |
20. 0Okm (17.0kmj )
12 t 106,008 060510
BT2t 2.9t |
12 t 91,260 060510
’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’ 060510
3 36, 000
’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’ 060510
9 180, 000

06 -

|
* * * * * %

-111

11-10



0-0010

1)
570,518
2)
570,518
3)
321,240
4)
mp2 321,240
( )
4,000 m2 321,240 06051
3)
142,320
4)
142,320
)
( )y(50 /100m2 ) |l
1,200 mp2 142,320 06051
3)
106,958

06 -

|
* * * * * %

-11111-10



0-0011

4)
106, 958
BT2t 2.9t | 4
17.0km (14.0km| )
3.5t 26,341 06051
BT2t 2.9t | 4
3.5t 26,617 06051
’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’ 06051
2 24,000
’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’ 06051
1.5 30,000
5,298,681
473,000
473,000
5. 771,681

06 -

|
* * * * * %

-11111-10



0-0012

1,088,000
777777777777777777777777777777777777777777777 6,859,681
7777777777777777777777777777777777777777777777 1,071,711
77777777777777777777777777777777777777777777777777777 2.608
777777777777777777777777777777777777777777777 1,074,319
777777777777777777777777777777777777777777777 7.9834,000
777777777777777777777777777777777777777777777777777777 79 3,400
77777777777777777777777777777777777777777777777 8,727,400

06 -

!
* ok ok ok K ok

-11111-10



0-0013

( ) SS000289 0O -0001
[ 150 30cm 60cm
TSD0O00345
1.000 693 4,693
#9 1
1 0
1 +00
693 446, 9639* 31
1 4,693
A=1 B=2 30cm 60cm
c=1 [ 150 D=1 -
E=1 - F=3 )
= 5,522*(1+0/100)*1.00*1.00*0. 85
= 4,693 ) 1

06 -

* * * * * %

-11111-10
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0-0015

( ) SS000289 0 -0003
[ 1] 100m2 1000 m2 1 m?2
TS345
1. 000 140 140
#91
1 0
1m2 +00
m2 140 1 4 01*410
1 m2 140
A=3 B=15
C=5 [ 1]100m2 1000 mp E=1 -
F=3 ( )
= 150*(1+10/200)*1.00F1.00r0. 85
= 140( ) 1

0O6-*****+*.171111-10



0-0016

VO010 0O -0004
200cm 50 10
( ) SS000051 0-0005
200cm 10 36 360
[ 150
TTM1164
1 194 194
0. 1kgl/
TTM1167
0. 05 550 27
0. 1kgl/
#91
1 0
10 581
1 58

06 -

e x ok xx . 11111-10



0-0017

( ) SS000051 0O -0005
200cm [ 150 1
TS803
1.000 36 36
#9 1
1 0
1 +00
36 36* 136
1 36
A=4 _ 200cm B=1 [ 150
cC=1 - D=1 -
E=3 ( )
= 46*(1+0/100)F1.00*1.00*0,. 80
= 36( ) 1

0O6-*****+*.171111-10



0-0018

V0020 0O -0006
100m2 1000m2 10 m?2
( ) SS000051 0-0007
_ 10 m|2 40 400
[ 1100m2 1000m2
TTM1164
1 194 194
0.1kg/ m2
TTM1167
0. 05 550 27
0.1kg/ m2
#91
1 0
10 m|2 621
1 m|2 6 2

06 -

Frxkxx - 11111-10



0-0019

( ) SS000051 0 -0007
[ 1] 100m2 1000 m?2 m2
TS804
1. 000 40 40
#9 1
1 0
1m2 +00
m2 40 40* 140
1 m2 40
A=5 ~ B=5 [ ]100m2 1000m2
D=1 - E=3 ( )
= 46*(1+10/2100)*1.00*1.00*0.80
= 40( ) 1
06-****+*+*_171111-10



0-0020

V0040 0 -0008
60cm 50 10
( ) SS000059 0-00009
60cm 10 273 2,730
[ 150
FOOOO0OOO0OOO1
20 3. 68
1/800 21/ 3.4
#91
1 0
10 2,798
1 279

06 -

* * * * * %

-11111-10



0-0021

( ) SS000059 0O -00009
60cm [ 150 1
TS815
1. 000 273 273
#9 1
1 0
1 +00
273 2 7 32713
1 273
A=5 _ 60cm B=1 [ 150
cC=1 - D=1 -
E=3 ( )
= 322*(1+0/100)*1.00*1.00*0D. 85
= 273( ) 1

0O6-*****+*.171111-10



0-0022

V0050 0O -0010
200cm 300cm 50 10
( ) SS000059 0-0011
_ 200cm 300cm 10 119 1,190
[ 150
FOOOOO0OO0OO0OO0OO0O?2
10 3. 34
1/800 1L/ 3.4
#91
1 0
10 1,224
1 122
06-******x_1171111-10



0-0023

( ) SS000059 0O -0011
200cm 300cm [ 150 1
TS814
1. 000 119 119
#9 1
1 0
1 +00
119 11 91*119
1 119
A=4 _ 200cm 300cm B=1 [ 150
cC=1 - D=1 -
E=3 ( )
= 140*(1+0/100)*1.00*1.00*0. 85
= 119(¢ ) 1

0O6-*****+*.171111-10



0-0024

VOO70 0O -0012
60cm 100cm 50 10
( ) SS000059 0-0013
_ 60cm 100cm 10 32 320
[ 150
FOOOOO0OO0OO0OO04
3 3. 10
1/ 800 0. 3L/ 3.4
#91
1 0
10 330
1 33

06 -

* * * * * %

-11111-10



0-0025

( ) SS000059 0 -0013
6 0cm 100cm [ 150
TS812
1. 000 32 32
#91
1 0
1 +00
32 32* 132
1 32
A=2 _ 60cm 100cm B=1 [ ]50
cC=1 - D=1 -
E=3 ( )
= 38*(1+0/100)7212.00*1 L 00*0| 85
= 32( ) 1

06 -

* * * * * %

-11111-10



0-0026

V0080 0 -0014
60cm 50 10
( ) SS000059 0-0015
60cm 10 28 280
[ 150
FOOOO0OO0O0OO0O0OA4
3 3. 10
1/800 0.3L/ 3.4
#91
1 0
10 290
1 29

06 -

* * * * * %

-11111-10



0-0027

( ) SS000059 0O -0015
6 0cm [ 150
TS811
1.000 28 28
#91
1 0
1 +00
28 28* 128
1 28
A=1 _ 6 0cm B=1 [ 150
C=1 - D=1 -
E=3 ( )
= 33*(1+0/100)F1.00*1.00*0, 85
= 28( ) 1

06 -

* * * * * %

-11111-10



0-0028

V0090 0O -0016
100m2 1000m2 10 m2
( ) SS000059 0-0017
_ 10 m2 46 460
[ 1100m2 1000m2
FOOOO0OO0O0OO0O0OS
4 3. 13
1/800 0.4L/ 3. 4
#91
1 0
10 m2 473
1 m{2 47

06 -

* * * * * %

-11111-10



0-0029

( ) SS000059 0O -0017
[ 1100m2 1000m2 m2
TS817
1.000 4 6 46
#91
1 0
1m2 +00
mp2 4 6 46* 146
1 mp2 46
A=7 _ B=5 [ 1]100m2 1000m2
D=1 - E=3 ( )
= 50*(1+10/100)*1.00*1.00*0. 85
= 46 ( ) 1
06-******x_11111-10



0-0030

( ) SS000053 0O -0018
[ 11000m2 m 2
TS806
. 000 132 132
#91
0
mp2 132
A=1 B=1 [ 1]1000m2
c=1 - D=1 -
E=3
= 156*(1+0/100)*1.00*[1.00*0. 85
= 132( ) 1
06-******_11111-10



0-0031

( ) SS000053 0O -0019
[  11000m2 m2
TS807
1.000 158 158
#91
1 0
1 m2 158
A=2 B=1 [ 171000m2
CcC=1 - D=1 -
E=3 )
= 187*(1+0/100)*1.00*1.00*0. 85
= 158( ) 1
06-******x_11111-10



0-0032
SPK23040410 0 -0020
BT2t 2. 9t 6.0km (4.0km ) 1 t
14.21% 82.66% 3.13% . 00 % 2,65
( ) ) ( )
MTPCOO144
14.21% 7,730 7, M¥BTO00194
2t 2.0t 2t .9t
RTPC000Q1
41.66% 22,464 25| RUBPTOO0O0(1
( ) RTPC0O0O0(6
41.00% 20,592 25, RUPTO000(6
TTPCOO0O13
3.13% 146 T3BT00013
EPOO1
2,345 0
A=1 BT2t 2.0t B=1 D
C=6 6..0km (4.0km )
MTPCOO154 = N / * 1.1)
= 441 *|(760 / 160) + (5,610 7,730
2,344.8146 = 2,653.3000 *
([ 14.210/100*7,730//7,190]) * [14.210/14.210]
+ ([41.660/100*22,464/25,700] + [41.000/100 * 592/25,300]) * [8R2.660/ (41
+ ([3.130/100*146/138]) * [3.130/3.130]
+ [100-14.210-82.660-3.130]/100

06 -

Frxkxx - 11111-10



SPK23040411 0 -0021
BT2t 2.9t 1 t
14. 15% 82. 74% 3.11% 0.00% 8,
) ( ) ( )
MTPCO0O1H
14.15% 7,730 7, MIPTO0O01H
2t 2.9t 2t 2.9t
RTPCO0O0OQ
41.50% 22,464 25, RIPTO00O0Q
( ) RTPCO0O0OQ
40. 83% 20,592 25, ROUPTO00O0Q
( ) ( ) EROO09
29. 709 0
TTPCOOO 1
3.11% 146 TZIBTOO0O1
EPOO1
7,605 0
A=1 BT2t 2.9t
MTPC0O0154 = o ( / Yy o+ * 1.01)
=441 *|(760 / 160) + (5,610.0) = 7,730
7,604.2516 = 8,606.4000 *
([14.150/100*7,730//7,190]) [14. 150/ 14.150]
+ ([ 41.500/100*22 464/ 25, 700] [ 40.,830/ 100 * 20,592/ 25.3001) [8R. 740/ (41.

06 -

* e e sk 11111-10



0-0034

60

SPK23040411 0 -0021
BT2t 2.9t t
14.15% 82.74% 3.11% 0.00% 8,
( ) ) (
+ ([3.110/100*146/138]) * [3.110/3.110]
+ [100-14.150-82.740-/3.110]/100

06 -

Frxkxx - 11111-10



0-0035

( ) SS000289 0 -0022
[ 110 30cm 60cm 1
TSDO0O0345
1. 000 5, 632 5,632
#9 1
1 0
1 +00
5, 632 556, 3623*21
1 5,632
A=1 B=2 _ 30cm 60cm
c=3 [ 110 E=1 -
F=3 ( )
= 5,522*(1+20/200)*1.00*1.00*0. 85
= 5,632( ) 1

0O6-*****+*.171111-10



0-0036

V0060 0O -0023
100cm 200cm 50 10
( ) SS000059 0-00214
_ 100cm 200cm 10 71 710
[ 150
FOOOOOOOOOS3
5 3. 17
1/800 0.5L/ 3.4
#91
1 0
10 727
1 72
06-******x_1171111-10



0-0037

( ) SS000059 0O -0024
100cm 200cm [ 150
TS813
1. 000 71 71
#9 1
1 0
1 +00
71 71* 171
1 71
A=3 _ 100cm 200 m B=1 [ 150
cC=1 - D=1 -
E=3 ( )
= 84*(1+0/100)F1.00*1.00*0,. 85
= 71( ) 1

06 -

* * * * * %

-11111-10



0-0038

( ) SS000053 0 -0025
[  1100m2 1000m2 6 1 m2
TS807
1. 000 174 174
#9 1
1 0
1 m2 174
A=2 ~ B=2 [ 1]100m2 1000m2
D=1 - E=3 ( )
= 187*(1+10/21200)*1.00F1.00r0. 85
= 174 ) 1

0O6-*****+*.171111-10



0-0039
SPK23040410 0 -0026
BT2t 2. 9t 20.0km (17.0km ) 1 t
14.21% 82.66% 3.13% 0.00% 9,99
( ) ( ) ( )
MTPCOOL1H4
14.21% 7,730 7, M9BPTO001H4
2t 2.9t 2t 2.9t
RTPCO0O00(1
41.66% 22,464 25| RUBPTO00(1
( ) RTPC0O0O0(6
41.00% 20,592 25, ROUPTO000(6
TTPCO0O0O013
3.13% 146 T3BT00013
EPOO1
8,834 0
A=1 BT2t 2.0t B=2 DI D
C=15 20.0km | (17.0km )
MTPCOOL154 = N / )+ ( *1.1)
= 1441 *|(760 / 160) + (5,610.0) = 7,730
8,833.8173 = 9,996.0000 *
([14.210/100*7,730/[7,190]) * [14.210/14.210]
+ ([41.660/100*22,464/25,700] + [41./000/100 * 20,592/25,300]) * [8R.660/(41.
+ ([3.130/100*146/138]) * [3.130/3.130]
+ [100-14.210-82.660-3.130]/100

06 -

Frxkxx - 11111-10



( ) SPK23040359 0O -0027
1 m?2
0.49% 99.51% 0. 00% 0. 00%
( ) ( ) ( )
MTPCO0OO011
0.48% 13 MIPTOO11
@255mm ®255mm
( ) ( ) EKOOO9
0
RTPCOO0OQO
49. 04 % 22, 46 25, ROUBPTO0O0O0QO
RTPCOO0OQO
35. 43 % 17, 47 22, BRUBTO00O0Q
RTPCOO0OQO
11.22% 25, 21 26, ROIPTOO0O0QO
( ) ( ) ERO0O09
06 0
EPOO1
§0. 31 0
A=2 B=1 - ( )
MTPCO00114 = ( / ) ( * J1)
=131 * | (70 / 134 + (73.7) 139
80.3027 = 94.3980 *

06 -

Frxkxx - 11111-10

=

© ©



0-0041
( ) SPK23040359 0 -0027

0.49% 99.51% 0. 00% 0. 00%

( ) ( ) ( )

([0.480/100*139/137]) * [0.490/0.480]

+ ([49.040/100*22,464/25,700] + [35.430/100 * 17,472/22,300] + [11,220/100

+ [100-0.490-99.510]//100

0O6-*****+*.171111-10



0-0042
( ) SPK23040180 0 -0028
( )(50 /100m2 1 m?2
0. 00 % 100. 00% 0. 00 % 0. 00 % 13
) ( ) ( )
RTPC000(1
62. 88% 22,464 25, RUPTOO0O0d1
RTPC000(9
18. 85% 25,272 26, RUPTO00dO
RTPC000(Q?2
11.73% 17, 472 22, RUPTO000d2
( ) ( ) EROOO9
7.75 0
EPOO1
118. 6 0
A=3 ( )(50 /100m2 B=1 - ( )
118.5542 = 134.9100 *
+ ([62.880/100*22, 464/ 25, 700] [18.850/ 100 * 25,272/26,500] + [11l 730/100 |[*
+ [100-100.000]/100

06 -

Frxkxx - 11111-10



0-0043
SPK23040410 0 -00209
BT2t 2. 9t 17.0km (14.0km ) 1 t
14.21% 82.66% 3.13% 0.00% 8,51
( ) ( ) ( )
MTPCOO144
14.21% 7,730 7, MIPTO0O01H4
2t 2.9t 2t 2.9t
RTPCO0O00(1
41.66% 22,464 25, RUBTO000d1
( ) RTPCO000(6
41.00% 20,592 25, RUBT000d6
TTPCO0O0O013
3.13% 146 T3BT00013
EPOO1
7,526 0
A=1 BT2t 2.9t B=2 DI D
cC=14 17.0km |(14.0km )
MTPCOO154 = Y / )y o+ ( * 1.1)
=441 * | (760 / 160) + (5,610.0) = 7,730
7,525.0938 = 8,515.1000 *
([ 14.210/100*7,730//7,190]) * [14.210/14.210]
+ ([41.660/100*22,464/25,700] + [41.000/100 * 20,592/25,300]) * [8R.660/ (41.
+ ([3.130/100*146/138]) * [3.130/3.130]
+ [100-14.210-82.660-3.130]/100

06 -

Frxkxx - 11111-10



0-0044

X1000
Y1AO01
838, 307
Y1G0120p0
589,327
Y1G012001
589,327
Y1G01200101
379,700
SS0002@89 ( ) 5 4A693B=2, C
[ 150 2 34A = , B 60cm | C
, D=-, E=-
SS0002@89 ( ) 15 A221B=12,
[ 150 3 1A = C=[ 115
-,E:-,F:
SS0002@89 ( ) 81 A¥30B=15,
[ 1100m2 1000m2 m?2 1138A= , B 1000 mZ
( )
Y1G01200107
58,920
VOO0O10 15 58
200cm 8,700
V0020 81 6 2
m?2 50,220
Y1G01200110
150, 707
V0040 36 279
60cm 101,277
VOO50 5 122
200cm 300cm 6, 710
VOO70 7 33
6 0cm 100cm 2. 475
06 - ****x x _ 1111-10



0-0045

vo0o80 7 29
60cm 2,175
V0090 81 47
m2 38,070
Y1G0121Q1
1,881,680
Y1G012101
1,881,680
Y1G01210102
1,881,680
SS0000p 3 ( ) 38 Af32B=1,C=1, D=1, E=3
m2 7 10A= ,B=] 11000m2 =-, D=
)
SS0000p 3 ( ) 38 Af32B=1,C=1, D=1, E=3
m2 7 10A= ,B=] 11000m2 =-, D=
)
SS0000pH 3 ( ) 46 A¥38B=1,C=1, D=1, E=3
m2 23 0A= ,B=[ 11000m2 \ , D=-|,
)
SS0000pH 3 ( ) 46 A¥38B=1,C=1, D=1, E=3
m2 23 0A= ,B=[ 11000m2 \ , D=-|,
)
Y1G0124
367,300
Y1G012415
367,300
SPK23040410 1 2A345B=1, C=6
BT2t 2.9t t 3 2A = BT2t 2.9t , B=DI , ¢=
Okm (4. 0km )
SPK23040411 1 7A605
BT2t 2.9t t 1 06A = BT2t 2.9t

06_******

-11111-10



0-0046

#0041 1 228C600
228C=
FOOOOO0O0ODOOOG®G 10 14, 000
140,000
FOOOOOOOOO7Y 4 22,000
88, 000
Y1A01
889, 856
Y1G0120p0
182,508
Y1G012001
182,508
Y1G01200101
106, 432
SS0002@89 ( ) 1 5A632B=2,
[ 110 BA = \ 60cm | C
’E:-’F:
SS0002@89 ( ) 720 A¥30B=15,
[ 1100m2 1000n m?2 1 00A= , B 1000 mZ
( )
Y1G01200107
38,440
V0020 620 6 2
m?2 38,440
Y1G01200110
37,636
V0060 118 72
100cm 200cm 8,496
V0090 620 47
m2 29,140
Y1G0121Q1
294,080
Y1G012101
., 294,080

06_******

-11111-10



0-0047

Y1G01210102
1,294,080
SS000053 ( ) 3,61 Ax32B=1,C=1, D=1, E=3
m 2 4 7 6A = ., B=[ 11000m2 , C=-,D=-
)
SS000053 ( ) 3,61 Ax32B=1,C=1, D=1, E=3
m 2 4 7 6A = ., B=[ 11000m2 , C=-,D=-
)
SS0000p 3 ( ) 98 AtZ24B=2,D=1, E=3
m 2 1700A= ,B=[ 1100m2 1000m2 | D=
)
SS0000p 3 ( ) 98 AtZ24B=2,D=1, E=3
m 2 1700A= ,B=[ 1100m2 1000m2 | D=
)
Y1G0124
413,268
Y1G012415
413,268
SPK23040410 1 8A834B=2,C=15
BT2t 2.9t t 1 06A= BT2t 2.9t ,B=DI D , G=
Okm (17.0km )
SPK23040411 1 7A605
BT2t 2.9t t 9 1A = BT2t 2.9t
#0041 216€Ce600
216C=
FOOOOOOOOOS 12,000
36,000
FOOOO0O0O0OO0OO0Y9 20,000
180,000
Y1AO01
570,518

06_******
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0-00438

Y1G0121
570,518
Y1G012101
321,240
Y1G01210102
m 2 321,240
SPK2304035 9 ) 4,00 A=80B31
m 2 321A= , B=-( )
Y3999
142,320
Y4999
142,320
SPK23040180 ( ) 1,20 Ax38B61
(. )(50 /100m2 m 2 14P2A= (. )(50 /100m2 ), B=-( )
Y1G012415
106, 958
Y4999
106, 958
SPK23040410 7A526B=2,C=114
BT2t 2.9t t 2 6A = BT2t 2.9t ,B=DI D , G=
. 0km (14. 0km )
SPK23040411 7A605
BT2t 2.9t t 2 6A = BT2t 2.9t
#0041 54CeQ0
54C =
FOOOOOOOOOS 12,000
24,000
FOOOO0O0O0OO0OO0Y9 20,000
30,000
GOoOOOO
5,298,681
Z0050 | 4,959,641
473,.0.0.0 0.0955
...... 4,959,641
1.0000
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0-0050

SS0002809 -0001 ( ) A=1,B=2,C=1, D=1, E=1, F=3
[ 150 1 4,693
30cm 60cm
SS0002809 -0002 ( ) A=2,B=12,C=1, D=1, E=1, F33
150 1 211
100cm
SS0002809 -0003 ( ) A=3,B=15,C=5, E=1, F=3
[ 1100m2 1000m2 m2 1 140
V0010 0O -0004
200cm 10 581
50
SS0000pB01 -Q0g005 ( ) A=4,B=1,C=1, D=1, E=3
_ 200cm 1 36
[ 150
V0020 0O -Q0006
m2 10 621
100m2 1000m2
SS0000pB01 -Q0007 ( ) A=5,B=5, D=1, E=3
_ m2 1 40
[ 1100m2 1000m2
V0040 0O -Qgo0o08
60cm 10 2,798
50
SS0000pB09 -0009 ( ) A=5,B=1,C=1, Db=1, E=3
_ 60cm 1 273
[ 150
V0050 0O -Q0010
200cm 300cm 10 1,224
50
SS0000pB09 -0011 ( ) A=4,B=1,C=1, D=1, E=3
_ 200cm 300cm 1 119
[ 150
VO0O0O70 0 -Q0012
60cm 100cm 10 330
50

0O6-*****+*.171111-10



0-0051

SS0000pB09 -0013 ( ) A=2,B=1,C=1, D=1, E=3
60cm 100cm 1 32
[ 150
V0080 0O -0014
60cm 10 290
50
SS0000pB09 -0015 ( ) A=1,B=1,C=1, D=1, E=3
60cm 1 28
[ 150
V0090 0O -Q0016
m2 10 473
100m2 1000m2
SS0000pB09 -0017 ( ) A=7, B=5, D=1, E=3
_ m2 1 46
[ 1100m2 1000m2
SS0000pB03 -0018 ( ) A=1,B=1,C=1, D=1, E=3
_ m2 1 132
[ 11000m2
SS0000pB03 -0019 ( ) A=2,B=1,C=1, D=1, E=3
_ m2 1 158
[ 11000m2
S P K2 30400 4-1000 2 0 A=1,B=1, C=6
BT2t 2.9t t 1 2,345
6. Okm (4. Okm )
SP K2 30400 4-1010 2 1 A=1
BT2t 2.9t t 1 7,605
SS0002809 -0022 ( ) A=1,B=2,C=3, E=1, F=3
[ 110 1 5, 63
30cm 60cm
V0060 0 -Q0023
100cm 200cm 10 727
50
SS0000pB09 -00214 ( ) A=3,B=1,C=1, D=1, E=3
_ 100cm 200cm 1 71
[ 150
06-******x_11111-10



0-0052

SS0000pB03 -0025 ( ) A=2,B=2, D=1, E=3
_ m2 174
[ 1100m2 1000m2
SP K2 30400 4-1000 2 6 A=1,B=2, C=15
BT2t 2.9t t 8, 834
20. 0k m (17. 0km
SPK230400 3-5000 2 7 ( ) A=2, B=1
m2 8
S P K2 30400 1-8000 2 8 ( ) A=3, B=1
( )(50 /100m2 ) m2 119
SP K2 30400 4-1000 2 9 A=1,B=2,C=14
BT2t 2.9t t 7,526
17. Okm (14. 0km

06 -
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